EAﬁaN Nude Pulley Conversaion Kit

Clistorm Accessoriss
“HoriT = Bexl Criricer Porre”™ we
_-__._-_._._____,.- . o S =

Revision: 1.1 - 02/19/2010

/ BA-6320-00 Page: 1

INCLUDED IN THE KIT:
(2) - Dowsel Pins (3) - M10x30 Chrome Cap Head Allen Boltswith

(2) - M10x25mm Chrome Cap Head Allen Bolts 3-M10 Chrome Washers (for ‘04 - '05 models)
(2) - M8x120mm Chrome Cap Head Allen Bolts (3) - M8x30mm Chrome Hex-Flange Bolts (for '99 - '03

models)
(2) - Cover Backing Plate

(1) - Torque Plate Support Bracket
(6) - M8x35 Chrome Cap Head Allen Bolts (for cover
mounting) (1) - Torque Plate Support

(D - Torque Plate

INSTRUCTIONS:

1. Placethe motorcycle on a suitable stand. Removethedrive pulley cover bracket and drive pulley cover per
Y amaha service manual procedures.

2. Straighten lock washer tab on the drive pulley. Loosen drive pulley nut and remove pulley. NOTE: When
loosening the drive pulley nut, press down on the brake pedal to prevent the pulley from turning. You may need to
loosen therear axle and dlidetherear wheel forward dsightly to allow enough slack in the belt for easier pulley
removal.

3. Next loosen and remove four (4) allen-head and three (3) hex-head bolts holding drive pulley case to engine
and removedrive pulley case. The (4) allen-head cap boltswill bere-used in mounting the Barons Torque
Plateto the engine.

4. Ingtall the torque plate support (flask shaped piece) onto thetorque plate using the supplied dowel pins, use a
soft mallet if needed to seat the two piecestogether.

5. Removethe (2) OEM dowel pinsfrom thefront of thedrive pulley case. Carefully slide new Barons Torque
Plate under drive belt and install to engine using the supplied 8 x 30mm hex-head flange bolts or the 10 x 30mm
cap-head allen bolts and washers, and the (4) OEM allen-head boltsremoved in Step 3. Torqueall boltsto 22
ft-1b.

6. Using the (2) supplied 8 x 120mm allen-head balts, install the supplied Torque Plate Support Bracket in place
of thedrive pulley cover bracket (removed in Step 1) to the new Baron Torqgue Plate and to the frame. Torque
the supplied 8 x 120mm cap boltsto 22 ft-1b., and the supplied 10 x 25mm frame bolts to 38 ft-Ib.

7. Install Barons aluminum Pulley Cover assembly per supplied instructionswith that kit and supplied
hardwar e from thiskit.

Our ingtall guides provide a basic outline on the proper installation of our products. Further tuning and/or
fitment may be required. Barons bears no responsibility on installation costs associated with this product.
© 2025 Barons Custom Accessories

5221 Oceanus Drive * Huntington Beach, CA 92649 < (657)200-3840 - Ph. * (714)901-0520 - Fax * www.baronscustom.com ¢ tech@baronscustom.com



